Int. J. Open Problems Complex Analysis, Vol. 2, No. 2, July2010 ISSN 2074-2827; Copyright © ICSRS Publication, 2010 www.i-csrs.org

# On Univalence of a General Integral Operator

#### V.B.L. Chaurasia and Vishal Saxena

Department of Mathematics, University of Rajasthan, Jaipur – 302055(INDIA)

Yagyavalkya Institute of Technology, Sitapura, Jaipur-302022 (INDIA) e-mail: saxenavishal13@rediffmail.com

#### **Abstract**

In this paper, we obtain univalence of a certain general integral operator and some interesting properties involving the integral operators defined by Cho-Kwon-Srivastava Operator. Relevant connections of the results, which are presented in this paper, with various other interesting results are also pointed out.

**Keywords**: univalent functions, integral operators,

#### 1 Introduction

Let A denote the class of functions of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad a_n \ge 0$$
(1.1)

which are analytic in the open disc  $U = \{z \in C; |z| < 1\}$  and S be the subclass of function  $f \in A$ , which are univalent in U.

For  $g_1(z) = z + \sum_{n=2}^{\infty} a_n z^n$  and  $g_2(z) = z + \sum_{n=2}^{\infty} b_n z^n$  of the class A, the Hadamard product (or convolution) is defined by

$$g_1(z) * g_2(z) = (g_1 * g_2)(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n$$
 (1.2)

Let

$$q_{\beta,\lambda}(z) = z + \sum_{k=0}^{\infty} \left(\frac{\lambda}{k+\lambda-1}\right)^{\beta} z^{k} \quad (\beta \ge 0, \lambda > 0), \tag{1.3}$$

$$p_{\mu}(z) = z + \sum_{k=2}^{\infty} \frac{(\mu)_{k-1}}{(k-1)!} z^{k} \quad (\mu \ge 0).$$
 (1.4)

Analogously N.E. Cho, O.S. Kwon and H.M. Srivastava [4] operator, for  $\beta \ge 0, \lambda > 0, \mu > 0$ , we define a linear operator  $I_{\lambda,\mu}^{\beta}: A \to A$  as follows:

$$I_{\lambda,\mu}^{\beta} f(z) = \left( f * p_{\mu} * q_{\beta,\lambda} \right) (z) = z + \sum_{k=2}^{\infty} \left( \frac{\lambda}{k + \lambda - 1} \right)^{\beta} \frac{(\mu)_{k-1}}{(k-1)!} a_k z^k . \tag{1.5}$$

**Definition**: For  $m \in N, i \in \{1, 2, ..., m\}, \alpha_i \in C$ , let us define the integral operator  $R^{\beta}_{\mu}(f_1, f_2, ..., f_m): A^m \to A$ ,

$$R_{\mu}^{\beta}\left(f_{1}, f_{2}, ..., f_{m}\right)\left(z\right) = \int_{0}^{z} \left[\frac{I_{\lambda,\mu}^{\beta} f_{1}\left(t\right)}{t}\right]^{\alpha_{1}} ... \left[\frac{I_{\lambda,\mu}^{\beta} f_{m}\left(t\right)}{t}\right]^{\alpha_{m}} dt \quad , z \in U$$

$$(1.6)$$

where  $f_i(z) \in A$  and  $I_{\lambda,\mu}^{\beta}$  is defined in (1.5).

Obviously, putting  $\beta \to 0$ ,  $\mu = 1$  in the operator, we get an operator studied by Breaz and Breaz [1].

Recently many authors (see for example [1], [2], [3] and [4]) have studied and obtained univalence conditions for the analytic function. In the present paper, we also obtain univalence conditions for integral operator which is defined by (1.6). To prove our main results we need followings Lemmas.

**Lemma 1** [6]. If the function f is regular in the unit disc U,

$$f(z) = z + a_2 z^2 + ...,$$

$$\left(1-\left|z\right|^{2}\right)\left|\frac{zf^{"}(z)}{f^{'}(z)}\right| \leq 1, \quad \forall z \in U.$$

$$(1.7)$$

Then the function f is univalent.

**Lemma 2** [7]. (Schwarz's Lemma) If the analytic function f(z) f(z) is regular in U, with f(0) = 0 and |f(z)| < 1 for all  $z \in U$ , then

$$|f(z)| \le |z|, \forall z \in U \text{ and } |f'(0)| \le 1$$
 (1.8)

The equality holds if and only if  $f(z) = cz, z \in U, |c| = 1$ .

### 2 Main Results

**Theorem 1.** Let  $m \in \mathbb{N}, i \in \{1, 2, ..., m\}, \alpha_i \in \mathbb{C}, f_i \in A$ . If

$$\left| \frac{z \left( I_{\lambda,\mu}^{\beta} f_{i}(z) \right)^{\prime}}{I_{\lambda,\mu}^{\beta} f_{i}(z)} - 1 \right| \leq 1,$$

$$\left| \alpha_{1} \right| + \left| \alpha_{2} \right| + \dots + \left| \alpha_{m} \right| \leq 1, z \in U,$$
(2.1)

then  $R_u^{\beta}(f_1, f_2, ..., f_m)(z)$  given by (1.6) is univalent.

**Proof:** Since  $f_i \in A, i \in \{1, 2, ..., m\}$ , we have

$$\frac{I_{\lambda,\mu}^{\beta} f_{i}(z)}{z} = \frac{z + \sum_{k=2}^{\infty} \left(\frac{\lambda}{k + \lambda - 1}\right)^{\beta} \frac{(\mu)_{k-1}}{(k-1)!} a_{k} z^{k}}{z} \\
= 1 + \sum_{k=2}^{\infty} \left(\frac{\lambda}{k + \lambda - 1}\right)^{\beta} \frac{(\mu)_{k-1}}{(k-1)!} a_{k} z^{k-1}, \\
\frac{I_{\lambda,\mu}^{\beta} f_{i}(z)}{z} \neq 0, \quad z \in U.$$
(2.2)

For z = 0, we have

$$\left\{ \left[ \frac{I_{\lambda,\mu}^{\beta} f_1(z)}{z} \right]^{\alpha_1} \dots \left[ \frac{I_{\lambda,\mu}^{\beta} f_m(z)}{z} \right]^{\alpha_m} \right\}_{z=0} = 1.$$
(2.3)

By differentiating (1.6), we obtain

$$\left[R_{\mu}^{\beta}\left(f_{1}, f_{2}, ..., f_{m}\right)\left(z\right)\right] = \left[\frac{I_{\lambda,\mu}^{\beta} f_{1}\left(z\right)}{z}\right]^{\alpha_{1}} ... \left[\frac{I_{\lambda,\mu}^{\beta} f_{m}\left(z\right)}{z}\right]^{\alpha_{m}}, z \in U.$$

$$(2.4)$$

$$[R^{\beta}_{\mu}(f_1, f_2, ..., f_m)(0)]' = 1.$$

Using (2.4), we obtain

$$\log\left[R_{\mu}^{\beta}\left(f_{1},f_{2},...,f_{m}\right)\left(z\right)\right]^{\prime}=\alpha_{1}\left[\log I_{\lambda,\mu}^{\beta}f_{1}\left(z\right)-\log z\right]+...+\alpha_{m}\left[\log I_{\lambda,\mu}^{\beta}f_{m}\left(z\right)-\log z\right],z\in U$$

(2.5)

By differentiating (2.5), we have

$$\frac{\left[R_{\mu}^{\beta}(f_{1}, f_{2}, ..., f_{m})(z)\right]^{"}}{\left[R_{\mu}^{\beta}(f_{1}, f_{2}, ..., f_{m})(z)\right]^{"}} = \alpha_{1} \left[\frac{\left(I_{\lambda,\mu}^{\beta} f_{1}(z)\right)^{"}}{I_{\lambda,\mu}^{\beta} f_{1}(z)} - \frac{1}{z}\right] + ... + \alpha_{m} \left[\frac{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{"}}{I_{\lambda,\mu}^{\beta} f_{m}(z)} - \frac{1}{z}\right], z \in U$$
(2.6)

Simple computation, we get

$$\frac{z\Big[R_{\mu}^{\beta}(f_{1}, f_{2}, ..., f_{m})(z)\Big]^{\frac{1}{n}}}{\Big[R_{\mu}^{\beta}(f_{1}, f_{2}, ..., f_{m})(z)\Big]^{\frac{1}{n}}} = \alpha_{1} \left[\frac{z\Big(I_{\lambda,\mu}^{\beta}f_{1}(z)\Big)^{\frac{1}{n}}}{I_{\lambda,\mu}^{\beta}f_{1}(z)} - 1\right] + ... + \alpha_{m} \left[\frac{z\Big(I_{\lambda,\mu}^{\beta}f_{m}(z)\Big)^{\frac{1}{n}}}{I_{\lambda,\mu}^{\beta}f_{m}(z)} - 1\right], z \in U$$
(2.7)

multiplying (2.7) by  $(1-|z|^2)$  and obtain

$$\left(1-|z|^{2}\right)\left|\frac{z\left[R_{\mu}^{\beta}\left(f_{1},f_{2},...,f_{m}\right)(z)\right]^{\frac{1}{2}}}{\left[R_{\mu}^{\beta}\left(f_{1},f_{2},...,f_{m}\right)(z)\right]^{\frac{1}{2}}}\right| = \left(1-|z|^{2}\right)\left[\frac{z\left(I_{\lambda,\mu}^{\beta}f_{1}(z)\right)^{\frac{1}{2}}}{I_{\lambda,\mu}^{\beta}f_{1}(z)}-1\right] + ...$$

$$+\alpha_{m}\left[\frac{z\left(I_{\lambda,\mu}^{\beta}f_{m}(z)\right)^{\frac{1}{2}}}{I_{\lambda,\mu}^{\beta}f_{m}(z)}-1\right] \qquad (2.8)$$

$$\leq \left(1-|z|^{2}\right)\left[|\alpha_{1}|\frac{z\left(I_{\lambda,\mu}^{\beta}f_{1}(z)\right)^{\frac{1}{2}}}{I_{\lambda,\mu}^{\beta}f_{1}(z)}-1\right] + ... + |\alpha_{m}|\frac{z\left(I_{\lambda,\mu}^{\beta}f_{m}(z)\right)^{\frac{1}{2}}}{I_{\lambda,\mu}^{\beta}f_{m}(z)}-1\right]$$

$$\leq \left(1-|z|^{2}\right)\left[|\alpha_{1}| + ... + |\alpha_{m}|\right] \leq |\alpha_{1}| + ... + |\alpha_{m}| \leq 1.$$

Thus by Lemma 1, we have  $R_{\mu}^{\beta}(f_1, f_2, ..., f_m)(z) \in S$ 

**Corollary 1.** Let  $m \in N, i \in \{1, 2, ..., m\}, \alpha_i \in C, f_i \in A$ . Putting  $\beta = 0, \mu = 1$  in Theorem 1, we obtain if

$$\left| \frac{z(R(f_i(z)))}{R(f_i(z))} - 1 \right| \le 1,$$

$$|\alpha_1| + |\alpha_2| + \dots + |\alpha_m| \le 1, \quad z \in U.$$

Then  $R(f_1, f_2, ..., f_m)(z)$  is univalent, where  $R(f_1, f_2, ..., f_m)(z)$  is given by Breaz and Breaz[1].

**Theorem 2.** Let  $m \in N, i \in \{1, 2, ..., m\}, \alpha_i \in C$ . If  $f_i \in A$  satisfy and

(i) 
$$\left|\alpha_1\right| + \left|\alpha_2\right| + \dots + \left|\alpha_m\right| \le \frac{1}{3}$$
,

(ii) 
$$\left|I_{\lambda,\mu}^{\beta}f_{i}(z)\right| \leq 1$$
,

(iii) 
$$\left| \frac{z^2 \left( I_{\lambda,\mu}^{\beta} f_i(z) \right)}{I_{\lambda,\mu}^{\beta} f_i(z)} - 1 \right| \leq 1.$$

For all  $z \in U$ , then the integral operator given by (1.6) is univalent.

**Proof**: Using (2.6), we obtain

$$\frac{\left| z \left[ R_{\mu}^{\beta} (f_{1}, f_{2}, ..., f_{m})(z) \right]^{\frac{1}{n}}}{\left[ R_{\mu}^{\beta} (f_{1}, f_{2}, ..., f_{m})(z) \right]^{\frac{1}{n}}} \right| = \left| \alpha_{1} \right| \frac{z \left( I_{\lambda, \mu}^{\beta} f_{1}(z) \right)^{\frac{1}{n}}}{I_{\lambda, \mu}^{\beta} f_{1}(z)} - 1 + ... + \left| \alpha_{m} \right| \frac{z \left( I_{\lambda, \mu}^{\beta} f_{m}(z) \right)^{\frac{1}{n}}}{I_{\lambda, \mu}^{\beta} f_{m}(z)} - 1 \right|.$$
(2.9)

Multiply (2.9) by  $\left(1-\left|z\right|^{2}\right)$ , using Schwarz's Lemma and obtain

$$\begin{split} &\left(1-|z|^{2}\right)\left|\frac{z\left[R_{\mu}^{\beta}(z)\right]}{\left[R_{\mu}^{\beta}(z)\right]}\right| = &\left(1-|z|^{2}\right)|\alpha_{1}|\left|\frac{z\left(I_{\lambda,\mu}^{\beta}f_{1}(z)\right)}{I_{\lambda,\mu}^{\beta}f_{1}(z)} - 1\right| + \ldots + |\alpha_{m}|\left|\frac{z\left(I_{\lambda,\mu}^{\beta}f_{m}(z)\right)}{I_{\lambda,\mu}^{\beta}f_{m}(z)} - 1\right| \\ &\leq &\left(1-|z|^{2}\right)|\alpha_{1}|\left|\frac{z\left(I_{\lambda,\mu}^{\beta}f_{1}(z)\right)}{I_{\lambda,\mu}^{\beta}f_{1}(z)}\right| + &\left(1-|z|^{2}\right)|\alpha_{1}| + \ldots + &\left(1-|z|^{2}\right)|\alpha_{m}|\left|\frac{z\left(I_{\lambda,\mu}^{\beta}f_{m}(z)\right)}{I_{\lambda,\mu}^{\beta}f_{m}(z)}\right| \\ &+ &\left(1-|z|^{2}\right)\left[|\alpha_{1}|\left|\frac{z\left(I_{\lambda,\mu}^{\beta}f_{1}(z)\right)}{I_{\lambda,\mu}^{\beta}f_{1}(z)}\right| + \ldots + |\alpha_{m}|\left|\frac{z\left(I_{\lambda,\mu}^{\beta}f_{m}(z)\right)}{I_{\lambda,\mu}^{\beta}f_{m}(z)}\right|\right] + &\left(1-|z|^{2}\right)\left[|\alpha_{1}| + \ldots + |\alpha_{m}|\right] \\ &\leq &\left(1-|z|^{2}\right)\left[|\alpha_{1}|\left|\frac{z^{2}\left(I_{\lambda,\mu}^{\beta}f_{1}(z)\right)}{I_{\lambda,\mu}^{\beta}f_{1}(z)}\right| + \ldots + |\alpha_{m}|\left|\frac{z^{2}\left(I_{\lambda,\mu}^{\beta}f_{m}(z)\right)}{I_{\lambda,\mu}^{\beta}f_{m}(z)}\right|\right] + \left(1-|z|^{2}\right)\left[|\alpha_{1}| + \ldots + |\alpha_{m}|\right] \\ &+ &\left(1-|z|^{2}\right)\left[|\alpha_{1}| + \ldots + |\alpha_{m}|\right] \\ &\leq &\left(1-|z|^{2}\right)\left[|\alpha_{1}|\left|\frac{z^{2}\left(I_{\lambda,\mu}^{\beta}f_{1}(z)\right)}{I_{\lambda,\mu}^{\beta}f_{1}(z)}\right| + \ldots + |\alpha_{m}|\left|\frac{z^{2}\left(I_{\lambda,\mu}^{\beta}f_{m}(z)\right)}{I_{\lambda,\mu}^{\beta}f_{m}(z)}\right|\right] + &\left(1-|z|^{2}\right)\left[|\alpha_{1}| + \ldots + |\alpha_{m}|\right] \\ &\leq &\left(1-|z|^{2}\right)\left[|\alpha_{1}|\left|\frac{z^{2}\left(I_{\lambda,\mu}^{\beta}f_{1}(z)\right)}{I_{\lambda,\mu}^{\beta}f_{1}(z)}\right| - |\alpha_{1}| + |\alpha_{1}|\right] + \ldots \\ &+ &\left(1-|z|^{2}\right)\left[|\alpha_{m}|\left|\frac{z^{2}\left(I_{\lambda,\mu}^{\beta}f_{1}(z)\right)}{I_{\lambda,\mu}^{\beta}f_{m}(z)}\right| - |\alpha_{m}| + |\alpha_{m}|\right] + &\left(1-|z|^{2}\right)\left[|\alpha_{1}| + \ldots + |\alpha_{m}|\right] \end{aligned}$$

$$\leq \left(1 - |z|^{2}\right) \left[ |\alpha_{1}| \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{1}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{1}(z)\right)^{2}} - 1 + \dots + |\alpha_{m}| \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}| \left[ \frac{z^{2} \left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}}{\left(I_{\lambda,\mu}^{\beta} f_{m}(z)\right)^{2}} - 1 \right] + \dots + |\alpha_{m}|$$

From (2.10) and condition (i), we have

$$\left(1-\left|z\right|^{2}\right)\left|\frac{z\left[R_{\mu}^{\beta}\left(z\right)\right]^{"}}{\left[R_{\mu}^{\beta}\left(z\right)\right]^{"}}\right|\leq1,\quad\text{for all }z\in U.$$

By Lemma 1, it follows that the integral operator  $R^{\beta}_{\mu}(f_1, f_2, ..., f_m)(z)$  is univalent. By putting  $\beta \to 0, \mu = 1$ , Theorem 2 reduced in the following corollary.

Corollary 2. Let  $m \in N, i \in \{1, 2, ..., m\}, \alpha_i \in C$ . If  $f_i \in A$  and satisfy

(i) 
$$\left|\alpha_1\right| + \left|\alpha_2\right| + \dots + \left|\alpha_m\right| \le \frac{1}{3}$$
,

(ii) 
$$|f_i(z)| \le 1$$
, and

(iii) 
$$\left| \frac{z^2 \left( f_i(z) \right)^n}{\left( f_i(z) \right)^n} - 1 \right| \le 1,$$

for all  $z \in U$ , then the integral operator given by (1.6) is univalent.

# 3 Open Problem

In this paper, we introduce a new operator  $R^{\beta}_{\mu}(f_1, f_2, ..., f_m)(z)$ . Is it possible to introduce a new operator related to this operator for meromorphic univalent functions?

## References

- [1] D. Breaz and N. Breaz, "Two integral operators", *Studia Universitatis Babes-Bolyai. Mathematica.*, Vol. 47, No. 3, (2002), pp. 13-19.
- [2] D. Breaz, S. Owa, and N. Breaz, "A new univalent integral operator", *Acta Univ. Apulensis Math. Inform.*, Vol. **16**, (2008), pp. 11-16.
- [3] G.I. Oros, "On an Univalent Integral Operator", *Int. J. Open Problem Com. Anal.* Vol. **1**, No. 2, (2009), pp. 19-26.
- [4] G.I. Oros, G. Oros and D, Breaz, "Sufficient conditions for univalence of an integral operator", *J. Inequal. Appl.*, Vol. **7** (2008), Art. ID 127645.
- [5] N.E.Cho, O.S. Kwon and H.M. Srivastava, "Inclusion and argument properties for certain subclasses of meromorphic functions associated with a family of multiplier transformations," *J. Math. Anal. Appl.*, Vol. **300** (2004) pp. 505-520.
- [6] V. Pescar and S. Owa, "Sufficient conditions for univalence of certain integral operators", *Indian Journal of Mathematics*, Vol. **42**, No. 3, (2000), pp. 347-351.
- [7] Z. Nehari, Comformal Mapping, Dover, New York, NY, USA, (1975).